
TEST QUESTION ON APTITUDE/SOFT SKILLS FOR MBA [1 X 50 = 50] 

 

1. Effectively presenting your thoughts and ideas, verbally and in writing. 

 

a. Teamwork 

b. Perseverance 

c. Communication 

d. Respect 

 

2. Non-verbal communication includes 

 

a. Smiling 

b. Hand gestures 

c. Facial expressions, body language and posture 

d. Standing straight 

 

3. Having a positive outlook can affect your 

 

a. Performance 

b. Confidence 

c. Health 

d. All of the above 

 

 4. Collaborative and cooperative with co-workers; contribute to goals; these are  examples of: 

 

a. Teamwork 

b. Responsibility 

c. Respect 

d. Time Management 

 

 5. In active listening, you should always maintain ________ contact. 

 

a. Hand 

b. Feet 

c. Eye 

d. Arm Length 



6. Which of the following is NOT a soft skill? 

 

a. Professionalism 

b. Communication skills 

c. Time management skills 

d. Typing skills 

 

7. Arriving or doing something at the expected or planned time is ________________ 

 

a. punctuality 

b. attendance 

c. character 

d. self discipline 

 

8. In a certain code language, 

 

(A) ‘pit nasom’ means ‘bring me water’ 

(B) ‘na jo tod’ means ‘water is life’ 

(C) ‘tub od pit’ means 'give me toy’ 

(D) ‘jo linkot’ means ‘life and death’ 

 

9. Which of the following represents 'is' in that language ? 

 

A) jo                  B) na 

C) tod           D) lin 

 

        A) A                        B) B 

        C) C                        D) E 

 

 

 



10. What should come in place of question mark (?) in the following number series? 

 132       156       ?         210          240          272  

A) 196                B) 182 

C) 199                D) 204 

11. 8 litres are drawn from a cask full of wine and is then filled with water. This operation is 

performed three more times. The ratio of the quantity of wine now left in cask to that of the 

water is 16 : 65. How much wine the cask hold originally? 

A) 18 litres B) 24 litres 

C) 32 litres D) 42 litres 

 

12. The average weight of 8 persons increases by 2.5 kg when a new person comes in place of 

one of them weighing 65 kg. What might be the weight of the new person ? 

 

A) 70 kg B) 75 kg 

C) 80 kg D) 85 kg 

 

13. Today is Monday. After 61 days, it will be : 

A) Tuesday B) Monday 

C) Sunday D) Saturday 

 

14. A clock is set right at 8 a.m. The clock gains 10 minutes in 24 hours will be the true time 

when the clock indicates 1 p.m. on the following day? 

A) 48 min. past 12. B) 46 min. past 12. 

C) 45 min. past 12. D) 47 min. past 12. 

 

15. If the sum of two numbers is 55 and the H.C.F. and L.C.M. of these numbers are 5 and 120 

respectively, then the sum of the reciprocals of the numbers is equal to: 

A) 55/601 B) 601/55 

C) 11/120 D) 120/11 

 



16. A man standing at a point P is watching the top of a tower, which makes an angle of 

elevation of 30º with the man's eye. The man walks some distance towards the tower to watch 

its top and the angle of the elevation becomes 60º. What is the distance between the base of 

the tower and the point P? 

 

A) Data inadequate B) 8 units 

C) 12 units D) None of these 

 

17. The value of a machine depreciates at the rate of 10% every year. It was purchased 3 years 

ago. If its present value is Rs. 8748, its purchase price was : 

 

A) 10000 B) 12000 

C) 14000 D) 16000 

 

18. Fresh fruit contains 68% water and dry fruit contains 20% water. How much dry fruit can be 

obtained from 100 kg of fresh fruits ? 

A) 20 B) 30 

C) 40 D) 50 

 

19. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to charity and A's 

share is Rs. 855, the total profit is : 

 

A) 500 B) 1000 

C) 1500 D) 2000 

 

20. A water tank is two-fifth full.Pipe A can fill a tank in 10 minutes and pipe B can empty it in 6 

minutes.If both the pipes are open,how long will it take to empty or fill the tank completely? 

A) 6 min.to empty B) 6 min.to fill 

C) 9 min.to empty D) 9 min.to fill 

 

 



21. A father said his son , " I was as old as you are at present at the time of your birth. " If the 

father age is 38 now, the son age 5 years back was : 

 

A) 14 B) 19 

C) 33 D) 38 

22. A, B and C can do a piece of work in 24 days, 30 days and 40 days respectively. They began 

the work together but C left 4 days before the completion of the work. In how many days was 

the work completed? 

 

A) 11 days B) 12 days 

C) 13 days D) 14 days 

 

23. Look at this series: 83, 73, 93, 63, __, 93, 43, ... What number should fill the blank? 

a) 33 

b) 53 

c) 73 

d) 93 

 

24. Look at this series: (1/9), (1/3), 1, ____ , 9, ... What number should fill the blank? 

a) 2/3 

b) 3 

c) 6 

d) 27 

 

25. In the following alphanumeric series, one term is missing as shown by the question mark. 

Select the missing term from the given options. 

5E, 7F, 11H, 17K, ? 

a) 25P 

b) 20N 

c) 20Q 

d) 25O 

 



26. CMM, EOO, GQQ,  _____ , KUU 

a) GRR 

b) GSS 

c) ISS 

d) ITT 

27. A, P, R, X, S and Z are sitting in a row. S and Z are in the centre. A and P are at the ends. R is 

sitting to the left of A. Who is to the right of P ? 

a) A 

b) X 

c) S 

d) Z 

28. Which is the mirror image of the given word? 

 

a) a 

b) b 

c) c 

d) d 

29. The antonym of RELINQUISH is  

 a. abdicate 

b. renounce 

c. possess 

d. deny 

 

30. TO PICK HOLES means 

a. to find some reason to quarrel 

b. to destroy something 

c. to criticize someone 

d. to cut some part of an item 

e. none of these 

 

 



31. Find the correctly spelt word 

a. ommineous 

b. omineous 

c. ominous 

d. omenous 

 

32. Read each sentence and find out whether there is any grammatical error. 

a. An Indian ship 

b. Got drowned in the pacific ocean 

c. Laden with merchandise 

d. No error 

 

33. Give the synonym of CORPULENT 

A. Lean 

B. Gaunt 

C. Emaciated 

D. Obese 

 

34. Give the synonym of LAMENT 

a. Complain 

b. Comment 

c. Condone 

d. Console 

 

35. Read each sentence and find out whether there is any grammatical error. 

a. I have got 

b. My M.Sc. degree 

c. In 1988 

d. No error 

 

36. Give the antonym of QUIESCENT 

a. Active 

b. Dormant 

c. Weak 

d. Unconcerned 

 



37. Select the pair which has same relationship. DIVA:OPERA 

a. Producer :theatre 

b. Director :drama 

c. Conductor :bus 

d. Thespian :play 

 

38. To play second fiddle 

a. To be happy, cheerful and healthy 

b. To reduce importance of one’s senior 

c. To support the role and view of another person 

d. To do back seat driving 

e. None of the above 

 

39. Find the correctly spelt word 

a. Survallance 

b. Surveillance 

c. Survellance 

d. surveilance 

 

40. choose the one which best expresses the given sentence in indirect/direct speech. 

“If you don’t keep quiet I shall shoot you”, he said to her in a calm voice. 

a. He warned her to shoot if she didn’t keep quiet calmly 

b. He said calmly that I shall shoot you if you don’t be quiet 

c. He warned her calmly that he would shoot her if she didn’t keep quiet 

d. Calmly he warned her that be quiet or else he will have to shoot her 

 

41. Fill in the blank to complete the sentence meaningfully: 

Success in this examination depends _____ hard work alone. 

a. At 

b. Over 

c. For 

d. On 

 

42. Choose one word which can be substituted for the given word/sentence. 

Extreme old age when a man behaves like a fool. 

a. Imbecility 

b. Senility 



c. Dotage 

d. Superannuiation 

 

43. Pain : sedative 

a. Comfort : stimulant 

b. Grief : consolation 

c. Trance : narcotic 

d. Ache : extraction 

 

44. The study of ancient societies 

a. Anthropology 

b. Archaeology 

c. History 

d. Ethnology 

 

45. Give the synonym of AUGUST 

a. Common 

b. Ridiculous 

c. Dignified 

d. Petty 

 

 

46. The miser gazed ____ at the pile of gold coins in front of him. 

a. Avidly 

b. Admiringly 

c. Thoughtfully 

d. Earnestly 

 

47. State in which few govern the many. 

a. Monarchy 

b. Oligarchy 

c. Plutocracy 

d. Autocracy 

 

 

 



48. Mundane : spiritual 

a. Common : ghostly 

b. Worldly : unworldly 

c. Routine : unroutine  

d. Secular : sacred 

 

49. Nicholas said, “This girl is the wife of the grandson of my mother.” Who is Nicholas to this 

girl? 

a. Father 

b. Husband 

c.  Grandfather 

d.  Father-In-Law 

  

50. If Parth says, “Shaikh’s mother is the only daughter of my own mother,” How is Parth 

related to Shaikh?  

a. Father 

b. Brother 

c. Grandfather 

d. Uncle 
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Answers 

1. C)Communication 

2. c)Facial expressions, body language and posture 

3. d) All of the above 

4. a) Teamwork 

5. c) Eye 

6. d) Typing skills 

7. a) punctuality 

8. C) tod  

9. D) E 

10. B) 182 

11. B) 24 litres 

12. D) 85 kg 

13. D) Saturday 

14. A) 48 min. past 12. 

15. C) 11/120 

16. A) Data inadequate 

17. 10. B) 12000 

18. C) 40 

19. C) 1500 

20. A) 6 min.to empty 

21. A) 14 

22. A) 11 days 

23. b) 53 

24. b) 3 

25. d) 25O 



26. c) ISS 

27. b) X 

28. c) C 

29. c) possess 

30. c) to criticize someone 

31. c) ominous 

32. b) Got drowned in the pacific ocean 

33. d) Obese 

34. a) Complain 

35. a) I have got 

36. a) Active 

37. d) Thespian :play 

38. c) To support the role and view of another person 

39. b) Surveillance 

40. c) He warned her calmly that he would shoot her if she didn’t keep quiet 

41. d) On 

42. c) Dotage 

43. b) Grief : consolation 

44. b) Archaeology 

45. c) Dignified 

46. a) Avidly 

47. b) Oligarchy 

48. d) Secular : sacred 

49. d) Father-In-Law 

50. d) Uncle 


